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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ nwpÒVH$m Ho$ nhbo n•> na AnZm AZwH´$_mßH$ AdÌ` {bI|ü&

2. H•$n`m Om±M H$a b| {H$ ‡ÌZ-nÃ nwpÒVH$m H$s Hw$b n•> gßª`m VWm ‡W_ n•> Ho$ D$nar ^mJ na N>no Hw$b n•> gßª`m XmoZm| g_mZ h¢ü& Bg ~mV
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 Im por tant Instructions 

1. This Question Paper Booklet contains two Question Papers—one based

on revised study material marked as NEW SYLLABUS and the other

based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015–16

(Block–I and Block–II) admission and Stream–II of 2016 admission.

(Those who are appearing in September–November, 2016 under

NEW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered

before 2015–16 (Block–I) admission.

4. Candidates are to answer only one Question Paper from the given two

Question Papers.

5. Candidates are not allowed to mix questions from the given two

Question Papers.

 _hŒdnyU© {ZX}e 

1. Bg ‡ÌZ-nÃ nwpÒVH$m _| Xmo ‡ÌZ-nÃ h¢—EH$ gßemo{YV A‹``Z gm_J´r na AmYm[aV h° {Og na 
Z`m nmR>ÁH´$_ Aß{H$V h° VWm Xygam gßemoYZ go nyd© A‹``Z gm_J´r na AmYm[aV h° {Og na
nwamZm nmR>ÁH´$_ Aß{H$V h°ü&

2. Z`m nmR>ÁH´$_ CZ narjm{W©̀ m| Ho$ {bE A{Zdm ©̀ h° {OZH$m Zm_mßH$Z 2015–16 („bm∞H$–I

Am°a „bm∞H$–II) VWm emIm–II, 2016 _| h˛Am h°ü& (CZHo$ {bE Omo {gVÂ~a–ZdÂ~a, 2016 _|
ZE nmR>ÁH´$_ Ho$ AßVJ©V narjm _| ~°R>Zo Om aho h¢ü&)

3. nwamZm nmR>ÁH´$_ CZ narjm{W©̀ m| Ho$ {bE A{Zdm`© h° {OZH$m Zm_mßH$Z 2015–16 („bm∞H$–I)
Ho$ nhbo h˛Am h°ü&

4. narjmWu {XE JE Xmo ‡ÌZ-nÃm| _| go Ho$db EH$ ‡ÌZ-nÃ go hr CŒma {bI|ü&

5. narjmWu H$mo Xmo ‡ÌZ-nÃm| Ho$ ‡ÌZm| H$mo {_bmH$a CŒma XoZo H$s AZw_{V Zht h°ü&
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 NEW 

This Question Paper contains 30 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V 30 ‡ÌZ h¢ü&

BI OL OGY (The ory)

Ord{dkmZ ({g’m›V)

(314)
Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of 30 questions.

(ii) All the questions are compulsory.

(iii) Marks for each question has been indicated against it.

(iv) Each question from Question Nos. 1 to 8 has four alternatives—(A), (B), (C)

and (D), out of which one is most appropriate. Choose the correct answer

among the four alternatives and write it in your answer-book against

the number of the question. No separate time is allotted for attempting

multiple-choice questions.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| 30 ‡ÌZ h¢ü&

(ii) g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ AßH$ {X`o J`o h¢ü&

(iv) ‡ÌZ gßª`m 1 go 8 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(H$), (I), (J) VWm (K) h¢, {OZ_| go EH$
Cn`w∫$ h°ü& Mmam| {dH$Înm| _| go ghr CŒma MwZ| VWm Cgo AnZr CŒma-nwpÒVH$m _| ‡ÌZ gßª`m Ho$ gm_Zo
{bI|ü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {bE A{V[a∫$ g_` Zht {X`m OmEJmü&

1. Cretinism and myxoedema are caused due to undersecretion of

(A) parathormone

(B) thyroxine

(C) growth hormone

(D) calcitonin 1
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Hó${Q>{Zµµ¡_ Am°a {_päg{S>_m Zm_H$ amoJ {H$gHo$ AÎnÚmd Ho$ H$maU hmoVo h¢?

(H$) n°amWm∞_m}Z

(I) Wm`am∞pägZ

(J) d•{’ hm∞_m}Z

(K) H°$pÎgQ>mo{ZZ

2. The sea anemone gets attached to the shell of the hermit crab is an example of

(A) parasitism

(B) competition

(C) mutualism

(D) amensalism 1

g_w–r EoZr_moZ h{_©Q> H°́$~ Ho$ H$dM na Òd ß̀ H$mo {MnH$m boVm h°ü& `h CXmhaU h°

(H$) naOr{dVm H$m

(I) ÒnYm© H$m

(J) ghmonH$m[aVm H$m

(K) A^mo{OVm H$m

3. Which of the following is a true fish? 1

(A) Jellyfish

(B) Silverfish

(C) Starfish

(D) Dogfish

{ZÂZ{b{IV _| go H$m°Z-gr `WmW© _N>br h°?

(H$) Oobr{µ\$e

(I) {gÎda{µ\$e

(J) ÒQ>ma{µ\$e

(K) S>m∞J{µ\$e
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4. The antibody present in colostrum that provides passive immunity to the

newborn infant is 1

(A) IgM

(B) IgG

(C) IgE

(D) IgA

ZdXwΩY _| nm`r OmZo dmbr ‡{Vajr H$m Zm_ ~VmBE Omo hmb hr _| O›_o ~Éo H$mo {ZpÓH´$` ‡{Vajm
‡XmZ H$aVr h°ü&

(H$) IgM

(I) IgG

(J) IgE

(K) IgA

5. —— is a sex-linked disorder. 1

(A) Down syndrome

(B) Haemophilia

(C) Syphilis

(D) Transgender

çççç EH$ qbJ-gß~’ {dH$ma h°ü&

(H$) S>mCZ qgS¥>mo_

(I) hr_mo\$s{b`m

(J) {g{\${bg

(K) Q¥>m›gOo›S>a

6. Identify the kingdom to which Plasmodium, Euglena and Diatom belong to. 1

(A) Monera

(B) Fungi

(C) Protoctista

(D) Protozoa
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Cg OJV≤ (qH$JS>_) H$mo nhMm{ZE {OgHo$ AßVJ©V flb°µµ¡_mo{S>`_, `yΩbrZm Am°a S>m`QÂg AmVo h¢ü&

(H$) _moZoam

(I) \ß$OmB©

(J) ‡moQ>m∞päQ>ÒQ>m

(K) ‡moQ>moµOmoAm

7. Antibiotic properties of Penicillium was discovered by

(A) Alexander Fleming

(B) Edward Jenner

(C) Selman Waksman

(D) Gregor Mendel 1

no{Z{g{b`_ Ho$ ‡{Vajr JwUm| H$mo ImoOm Wm

(H$) EoboäµO|S>a µµ‚boq_J Zo

(I) ES≤>dS>© OoZa Zo

(J) goÎ_mZ dmäg_°Z Zo

(K) J´oJa _o›S>ob Zo

8. Neha puts some dry grams in water overnight. Next morning they were fully

swollen. Name the biological phenomenon involved. 1

(A) Osmosis

(B) Diffusion

(C) Imbibition

(D) Plasmolysis

Zohm Zo Hw$N> IwÌH$ MZo Ho$ XmZm| H$mo amV^a Ho$ {bE nmZr _| aI {X`mü& AJbr gw~h XmZo nyar Vah go
\y$b MwHo$ Woü& Bg Ordd°km{ZH$ n[aKQ>Zm H$m Zm_ ~VmBEü&

(H$) namgaU

(I) {dgaU

(J) AßVÖemofU

(K) ‡–Ï`b`Z
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9. Name the plant hormones concerned with the following : 2

(a) Ripening of fruits

(b) Breaking of seed dormancy

(c) Elongation of cell

(d) Shedding of leaves

CZ nmXn hm∞_m}Zm| Ho$ Zm_ ~VmBE {OZH$m gß~ßY {ZÂZ{b{IV go h° Ö

(H$) \$bm| H$m nH$Zm

(I) ~rO gw·mdÒWm H$mo ß̂J H$aZm

(J) H$mo{eH$m H$s bß~mB© _| d•{’

(K) n{Œm`m| H$m PãS>Zm

10. Define the term ‘broad spectrum antibiotics’. Give two examples. 2

"~´m∞S> ÒnoäQ¥>_ Eo›Q>r~m`mo{Q>äg' H$s n[a^mfm {b{IEü& BZHo$ H$moB© Xmo CXmhaU Xr{OEü&

11. Name the locomotory or gans of the fol low ing : 2

(a) Mollusc

(b) Starfish

{ZÂZ{b{IV Ho$ MbZ AßJm| Ho$ Zm_ ~VmBE Ö

(H$) _mobÒH

(I) ÒQ>ma{µ\$e

12. State two points of difference between innate immunity and acquired immunity. 2

ghO ‡{Vajm Am°a Cnm{O©V ‡{Vajm Ho$ ~rM Xmo AßVa ~VmBEü&
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13. Match the items given in Column–I with those of Column–II : 2

Col umn–I Col umn–II

(a) Cerebellum (i) Con trols in vol un tary ac tion like move ment 

of the al i men tary ca nal, etc.

(b) Ce re bral cortex (ii) Larg est part of brain

(c) Me dulla oblongata (iii) Co or di nates mus cu lar activities

(d) Ce re brum (iv) Con trols and ini ti ates vol un tary mus cle

con trac tion

H$m∞b_–I _| {XE e„Xm| Am°a H$m∞b_–II _| {XE e„Xmoß H$m {_bmZ H$s{OE Ö

H$m∞b_–I H$m∞b_–II

(a) AZw_pÒVÓH$ (i) AZ°p¿N>H$ {H´$`m H$m {Z ß̀ÃU, O°go Amhma-Zmb H$s J{V H$m

(b) ‡_pÒVÓH$ dÎHw$Q> (ii) _pÒVÓH$ H$m g~go ~ãS>m ^mJ

(c) _oSw>bm Am∞„bmßJoQ>m (iii) noer` J{V{d{Y`m| _| g_›d`Z

(d) ‡_pÒVÓH$ (iv) Eop¿N>H$ noer-gßHw$MZ H$m {Z ß̀ÃU Am°a ‡maß̂ Z

14. Draw a neat diagram of a unicellular alga and label the following parts : 2

    Chloroplast; Pyrenoid; Flagellum; Nu cleus

EH$H$mo{eH$ e°dmb H$m Òd¿N> AmaoI ~ZmBE Am°a {ZÂZ{b{IV ^mJm| H$mo Zm_mß{H$V H$s{OE Ö

  äbmoamoflbmÒQ> (h[aVbdH$); nmBarZm∞BS>; H$em{^H$m; Ho$›–H$

15. With the help of diagrammatic representations and an appropriate example,

distinguish between the following types of inflorescence : 2

(a) Monochasial cyme and dichasial cyme

(b) Corymb and umbel

AmaoIr {ZÍ$nUm| Am°a Cn`w∫$ CXmhaUm| H$s ghm`Vm go {ZÂZ{b{IV ‡H$ma Ho$ nwÓnH´$_m| _| AßVa ÒnÔ>
H$s{OE Ö

(H$) EH$emIr ggr_mj Am°a {¤emIr ggr_mj

(I) g_{eI Am°a nwÓnN>Ã

314/HIS/106A 8



16. List four applications of biotechnology. 2

O°d‡m°⁄mo{JH$s Ho$ Mma AZw‡`moJmo| H$s gyMr ~ZmBEü&

17. Define the term ‘hydroponics’. State three significances of such culture

experiments. 2

"ObgßdY©Z' e„X H$s n[a^mfm {b{IEü& Bg ‡H$ma Ho$ gßdY©-‡`moJm| Ho$ VrZ _hŒd ~VmBEü&

18. State two functions of oxytocin. 2

Am∞ägrQ>mo{gZ Ho$ Xmo H$m ©̀ ~VmBEü&

19. After recovering from a major ailment, a man was advised to include more of

proteins and iron in his diet. Give reason and mention one source of each. 2

{H$gr Jß̂ ra amoJ Ho$ R>rH$ hmo OmZo Ho$ ~mX, {H$gr Ï`{∫$ H$mo gbmh Xr JB© {H$ dh AnZo Amhma _|
‡moQ>rZm| Am°a bm°h H$s _mÃm A{YH$ H$a boü& Bg gbmh H$m H$maU ~VmBE VWm ‡À òH$ H$m EH$ ÚmoV
~VmBEü&

20. Name any two disorders of the musculoskeletal system which are hereditary. 2

noer-Hß$H$mb VßÃ Ho$ H$moB© Xmo {dH$ma ~VmBE Omo AmZwdß{eH$ Í$n _| hmoVo h¢ü&

21. (a) Name the male and female sex organs in Bryophytes and Pteridophytes

and give their locations.

(b) Give any four points to distinguish between Monocots and Dicots. 4

(H$) ~´m`moµ\$mBQ> Am°a Q>o[aS>moµ\$mBQ> Ho$ Za Am°a _mXm OZZ AßJm| Ho$ Zm_ ~VmBE VWm BZ nm°Ym| na CZH$s 
pÒW{V ~VmBEü&

(I) EH$~rOnÃr Am°a {¤~rOnÃr nm°Ym| Ho$ ~rM H$moB© Mma AßVa ~VmBEü&

22. Explain in four steps, how a long DNA molecule is packaged in the

chromosome. 4

Mma MaUm| _| Ï`mª`m H$s{OE {H$ DNA H$m bß~m AUw {H$g ‡H$ma JwUgyÃ Ho$ ^rVa gßdo{Ô>V hmoVm h°ü&

23. Define the term ‘phyllotaxy’. Mention the types giving diagrammatic

representations and appropriate examples. 4

"nU©{d›`mg' e„X H$s n[a^mfm Xr{OEü& AmaoIr {ZÍ$nU Am°a Cn`w∫$ CXmhaU XoVo h˛E {d{^fi ‡H$ma Ho$
nU©{d›`mg ~VmBEü&

314/HIS/106A 9 [ P.T.O.



24. (a) What do you understand by sustainable development? Mention any four

activities which will help in attaining sustainable development.

(b) Name a plant species which is most suitable for yielding biofuel. 4

(H$) gßYmaUr` (gÒQ>oZo~b) {dH$mg go AmnH$m ä`m VmÀn`© h°? CZ {H$›ht Mma {H´$`mH$bmnm| H$s MMm©
H$s{OE Omo gßYmaUr` {dH$mg H$mo ‡m· H$aZo _| ghm`Vm H$a|Joü&

(I) Cg nmXn ÒnrerµO H$m Zm_ ~VmBE Omo O°d B™YZ Cnb„Y H$amZo Ho$ {bE g~go A{YH$ Cn ẁ∫$
hmoVr h°ü&

25. (a) Draw a neat and labelled diagram of the excretory system in human.

(b) To which category would humans belong based on the nitrogenous waste

produced by them? 4

(H$) _mZd Ho$ CÀgO©Z-VßÃ H$m EH$ Òd¿N> Am°a Zm_mß{H$V AmaoI ~ZmBEü&

(I) _mZd {Og ‡H$ma Ho$ ZmBQ¥>moOZr An{eÔ> H$mo CÀnfi H$aVo h¢ CgHo$ AmYma na C›h| Amn {H$g
loUr _| aI|Jo?

26. With the help of a flowchart, explain incomplete dominance. Give the scientific

name of an organism which exhibits this inheritance. Also mention the

phenotype and genotype ratios. 4

EH$ ‡dmhMmQ>© H$s ghm`Vm go AnyU© ‡^m{dVm H$s Ï`mª`m H$s{OEü& Cg EH$ Ord H$m d°km{ZH$ Zm_
~VmBE {Og_| Bg ‡H$ma H$s dßemJ{V nmB© OmVr h°ü& gmW hr bjU‡Í$nr Am°a OrZ‡Í$nr AZwnmVm| H$s
^r MMm© H$s{OEü&

27. (a) Why is roughage considered important in our daily diet?

(b) Give two reasons, why children of 1–5 years develop PEM. Name two

diseases to which such children are prone to suffer from, giving the main

distinguishing symptoms of the diseases.

(c) Mention two symptoms of excessive intake of iron. What is this condition

called? 6

(H$) h_mao amoO_am© Ho$ ^moOZ _| Í$jmße H$mo ä`m| _hŒdnyU© _mZm OmVm h°?

(I) H$moB© Xmo H$maU ~VmBE {H$ ä`m| 1–5 df© H$s Am`w dmbo ~Éo PEM go J´ÒV hmoVo h¢ü& CZ Xmo
amoJm| Ho$ Zm_ ~VmBE {OZgo BZ ~Ém| Ho$ J´ÒV hmoZo H$s gß̂ mdZm hmoVr h°ü& BZ XmoZm| amoJm| Ho$
{d{eÔ> bjU ^r ~VmBEü&

(J) A{YH$ _mÃm _| bm°h H$m godZ H$aZo go ‡H$Q> hmoZo dmbo Xmo amoJbjUm| H$s MMm© H$s{OEü& Bg
pÒW{V H$mo ä`m H$hVo h¢?

314/HIS/106A 10



28. (a) What are meristematic tissues of plants? Name the types giving their

locations.

(b) Name the complex tissues of plants. Give their main functions. Also name 

the components each one is made of. 6

(H$) nm°Ym| Ho$ _o[aÒQ>_r D$VH$ ä`m hmoVo h¢? CZH$s pÒW{V ~VmVo h˛E CZHo$ ‡H$mam| Ho$ Zm_ ~VmBEü&

(I) nm°Ym| Ho$ O{Q>b D$VH$m| Ho$ Zm_ ~VmBEü& CZHo$ ‡_wI H$m ©̀ ~VmBEü& gmW hr CZ gßKQ>H$ gßaMZmAm| 
Ho$ ^r Zm_ ~VmBE {OZgo ‡À òH$ D$VH$ ~Zm hmoVm h°ü&

29. (a) Give a generalized balanced equation of photosynthesis.

(b) Draw a diagrammatic representation of the Calvin cycle and highlight the

three main steps taking place in the process. Where does this cycle take

place and what is the main product formed? 6

(H$) ‡H$megßÌbofU H$m EH$ gm_m›`rH•$V gßVw{bV g_rH$aU {b{IEü&

(I) H°$pÎdZ MH´$ H$m EH$ AmaoIr {ZÍ$nU ~ZmBE VWm Bg ‡{H$́`m _| hmoZo dmbo VrZ ‡_wI MaUm| H$mo 
g_PmH$a {b{IEü& `h MH´$ H$hm± hmoVm h° VWm ~ZZo dmbm ‡_wI CÀnmX H$m°Z-gm hmoVm h°?

30. (a) A son and a daughter were colour-blind. The father was colour-blind but

mother had a normal colour vision. Draw a self-explanatory flowchart to

indicate the above.

(b) Give the karyotypes of the following :

(i) Down syn drome fe male

(ii) Turner’s syn drome

(iii) Klinefelter’s syn drome

(iv) Nor mal male

(c) Define the term ‘amniocentesis’. 6

(H$) EH$ ~oQ>m Am°a EH$ ~oQ>r aßJmßY Woü& BZHo$ {nVm ^r aßJmßY Wo bo{H$Z _m± H$s —{Ô> gm_m›` Wrü&
Cn`w©∫$ H$mo g_PmZo Ho$ {bE EH$ ÒdVÖÒnÔ> ‡dmhMmQ>© ~ZmBEü&

(I) {ZÂZ{b{IV Ho$ JwUgyÃ‡Í$n ~VmBE Ö

(i) _mXm S>mCZ qgS¥>mo_

(ii) Q>Z©a qgS¥>mo_

(iii) äbmBZ\o$ÎQ>a qgS¥>mo_

(iv) gm_m›` Za

(J) "CÎ~doYZ' e„X H$s n[a^mfm Xr{OEü&
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 OLD 

This Question Paper contains 26 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V 26 ‡ÌZ h¢ü&

BI OL OGY (The ory)

Ord{dkmZ ({g’m›V)

(314)
Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has two options. Candidates are required to attempt questions

from one option only.

(iv) Maximum marks for each question has been indicated against it.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| Xmo$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

(iv) ‡À òH$ ‡ÌZ Ho$ A{YH$V_ AßH$ Cgr Ho$ gm_Zo {X ò J ò h¢ü&

SEC TION–A

I S>–A

1. Name the organelle responsible for osmoregulation in Amoeba. 1

A_r~m _| namgaU{Z`_Z {H$g AßJH$ ¤mam hmoVm h°?

2. Where does respiration occur in bacteria? 1

~°äQ>r[a`m _| ÌdgZ H$hm± na hmoVm h°?
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3. Which microorganism is used for the preparation of curd? 1

Xhr ~ZmZo Ho$ {bE {H$g gy˙_Ordr H$m ‡`moJ H$aVo h¢?

4. Which method of cultivation should be used in mountain slopes to conserve

soil? 1

nd©Vr` joÃm| _| _•Xm gßajU Ho$ {bE IoVr H$s {H$g {d{Y H$m ‡`moJ H$aZm Mm{hE?

5. When did earth originate? Which gases were present in the atmosphere of the

primitive earth? 2

n•œdr H$s CÀn{Œm H$~ h˛B©? n•œdr Ho$ Amaß{^H$ dmVmdaU _| H$m°Z-H$m°Z gr J°g| Cnb„Y Wt?

6. To which group do the following belong? 2

(a) A unicellular organism whose cell wall is made up of peptidoglycan and

has single double-helical molecule of DNA

(b) Cells have true nuclei; body is made up of thread like structures; cell wall

made of chitin and chlorophyll is absent

(c) Woody plants; no flowers; ovules borne on megasporophylls

(d) Elongated, segmented coelomate; locomotion by setae, excretion by

nephridia

{ZÂZ{b{IV Ord {H$g dJ© Ho$ AßVJ©V AmVo h¢?

(H$) EH$bH$mo{eH$s`, nopflQ>S>moΩbmBH°$Z H$s H$mo{eH$m-{^{Œm dmbm VWm EH$b JwUgyÃ dmbm hmoVm h°, Omo
Xmohao g{n©b S>r0 EZ0 E0 AUw go ~Zm hmoVm h°

(I) H$mo{eH$mAm| _| `WmW© Ho$›–H$ hmoVm h°; eara ~marH$ gyÃm| go ~Zm hmoVm h°; H$mo{eH$m-{^{Œm H$mB{Q>Z 
H$s ~Zr hmoVr h° VWm äbmoamo{\$b Zht hmoVm

(J) H$m>r` nm°Yo; nwÓn Zht nm`o OmVo; ~rOmßS> JwÈ~rOmUwnUm] na bJVo h¢

(K) bÂ~o, I S> `w∫$ grbmo_oQ>$; J{V Ho$ AßJ eyH$, CÀgOu AßJ Zo{\´${S>`m

7. What is the dominant generation in pteridophytes? Name the sex organs of

pteridophytes and give one example of a pteridophyte. 2

Q>o[aS>moµ\$mBQ>m| _| ‡^mdr AdÒWm H$m°Z-gr h°? BZHo$ OZZ AßJm| Ho$ Zm_ ~VmBEü& Q>o[aS>moµ\$mBQ> H$m EH$
CXmhaU Xr{OEü&
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8. Name the techniques employed for the following : 2

(a) Making multiple copies of DNA

(b) Producing large quantities of identical genes

{H$Z VH$ZrH$m| ¤mam {ZÂZ ~ZmE OmVo h¢?

(H$) S>r0 EZ0 E0 H$s AZoH$ ‡{V{b{n`m± ~ZmZm

(I) g_mZ OrZm| H$m ~ãS>r _mÃm _| CÀnmXZ

9. Match the items given in Column—I with those of Column—II : 2

Col umn–I Col umn–II

(a) Vivipary (i) Chry san the mum

(b) Short-day plant (ii) Rhizophora

(c) Parthenocarpy (iii) Auxin

(d) Cell elongation (iv) Gibberellin

H$m∞b_ççI _| {XE e„Xm| H$m H$m∞b_ççII _| {XE e„Xm| go {_bmZ H$s{OE Ö

H$m∞b_ççI H$m∞b_ççII

(a) {nV•ÒW AßHw$aU (i) H´$mBgo›Wo__

(b) AÎn-‡Xr·H$mbr nm°Ym (ii) amBOmoµ\$moam

(c) A{ZfoH$\$bZ (iii) Am∞pägZ

(d) H$mo{eH$m-bÂ~mB© ~ãT>Zm (iv) {O~ao{bZ

10. Give 1 word answer for the following : 2

(a) In which plant part the vascular bundles are radial?

(b) In which plant part the vascular bundles are collateral?

(c) Name an adventitious root which is fleshy.

(d) Which part of the plant develops from plumule?

{ZÂZ{b{IV H$m 1 e„X _| CŒma Xr{OE Ö

(H$) nm°Yo Ho$ {H$g ^mJ _| Aar` gßdhZ ~ßS>b nmE OmVo h¢?

(I) nm°Yo Ho$ {H$g ^mJ _| gßnmpÌd©H$ gßdhZ ~ßS>b nmE OmVo h¢?

(J) {H$gr AnÒWm{ZH$ Hß${Xb OãS> H$m CXmhaU Xr{OEü&

(K) nm°Yo H$m H$m°Z-gm ^mJ ‡mßHw$a go ~ZVm h°?
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11. Draw the following and label any two parts in each of them : 4

(a) Ciliated epithelium

(b) Mitotic prophase in an animal cell

{ZÂZ{b{IV Ho$ {MÃ ~ZmH$a CZ_| go ‡À òH$ _| Xmo ^mJ Zm_mß{H$V H$s{OE Ö

(H$) n˙_m{^H$s E{nWr{b`_

(I) O›Vw H$mo{eH$m _| gyÃr {d^mOZ H$s nydm©dÒWm

12. (a) Which are the three physical barriers that prevent the entry of pathogens

in the body? How is nose able to expel particles and pathogens?

(b) Name two fields where knowledge of biotechnology can be applied. Give

example of each. 4

(H$) hm{ZH$maH$ gy˙_Ordm| (amoJmUwAm|) H$m eara _| ‡doe amoH$Zo Ho$ VrZ emar[aH$ AdamoY H$m°Z-go h¢? 
ZmH$ H${UH$mAm| Am°a amoJmUwAm| H$mo ~mha H°$go {ZH$mbVm h°?

(I) Eogo Xmo joÃm| Ho$ Zm_ ~VmBE Ohm± O°d‡m°⁄mo{JH$s H$m Cn`moJ {H$`m Om gH$Vm h°ü& ‡À òH$ H$m
CXmhaU Xr{OEü&

13. Differentiate between the following : 4

(a) Budding and Fragmentation (give one example of each)

(b) Identical twins and Fraternal twins

{ZÂZ{b{IV _| A›Va ÒnÔ> H$s{OE Ö

(H$) _wHw$bZ Edß I S>Z (‡À òH$ H$m EH$ CXmhaU Xr{OE)

(I) A{^fi OwãS>dm± Edß {¤AßS>O OwãS>dm±

14. (a) Name the specialized bodies where N2 is fixed in legumes. Which bacteria

are found in these bodies? How is leghaemoglobin produced?

(b) Give reasons :

(i) Rate of tran spi ra tion in creases with in crease in light in ten sity

(ii) Pitcher plant can man u fac ture food but also feeds on in sects 4

(H$) XbhZr nm°Ym| Ho$ CZ {d{eÔ> ^mJm| Ho$ Zm_ ~VmBE {OZ_| ZmBQ¥>moOZ pÒWarH$aU hmoVm h°? BZ
{d{eÔ> ^mJm| _| H$m°Z-go OrdmUw nm ò OmVo h°ß? boJ-hr_moΩbmo{~Z H$m CÀnmXZ H°$go hmoVm h°?

(I) H$maU ~VmBE Ö

(i) ‡H$me H$s Vrd´Vm ~ãT>Zo go dmÓnmoÀgO©Z H$s Xa ~ãT> OmVr h°

(ii) KQ>nmXn AnZm ^moOZ ~Zm gH$Vo h¢ na H$sQ> ^r AeZ H$aVo h¢
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15. Define osmosis. How does it differ from diffusion (give any two points)? Also

give one example each of osmosis and diffusion. 4

namgaU H$s n[a^mfm Xr{OEü& `h {dgaU go H°$go {^fi h° (H$moB© Xmo {~›Xw ~VmBE)? namgaU VWm
{dgaU H$m EH$-EH$ CXmhaU ^r Xr{OEü&

16. (a) Define photosynthesis. Where do dark and light reactions of

photosynthesis take place in the chloroplast?

(b) What do you understand by extracellular and intracellular digestions?

Give one example of each. 4

(H$) ‡H$megßÌbofU H$mo n[a^m{fV H$s{OEü& ‡H$megßÌbofU H$s ‡H$me A{^{H´$`m VWm A‡H$mer
A{^{H´$`m h[aVbdH$ Ho$ {H$Z ^mJm| _| hmoVr h¢?

(I) AßVamH$mo{eH$s` VWm H$mo{eH$m~m¯ nmMZ go Amn ä`m g_PVo h¢? ‡À òH$ ‡H$ma Ho$ nmMZ H$m
EH$ CXmhaU Xr{OEü&

17. (a) Name the organs of respiration and elimination of nitrogenous wastes in

cockroach. Where are these organs situated?

(b) Name the types of blood vessels which have the following characteristics :

(i) Flow from heart to body parts

(ii) Flow from body parts to heart

(iii) Semilunar valves are pres ent

(iv) Blood pres sure is high and pulsatile 4

(H$) {VbM≈>o _| nmE OmZo dmbo ÌdgZ AßJ VWm ZmBQ¥>moOZ CÀgOu AßJm| Ho$ Zm_ ~VmBEü& `o eara _|
H$hm± nm ò OmVo h¢?

(I) ZrMo {X ò J ò bjUm| Ho$ AmYma na ~VmBE {H$ ò {H$g ‡H$ma H$s È{Ya dm{hH$mE± h¢ Ö

(i) ˆX` go AßJm| H$s Amoa ~hVr h¢

(ii) AßJm| go ˆX` H$s Amoa ~hVr h¢

(iii) AY©Mß–mH$ma H$nmQ> hmoVo h¢

(iv) È{Ya-Xm~ CÉ Am°a ÒnßXZerb hmoVm h°

18. (a) Name the pathogen which causes tuberculosis. What are the main

symptoms of the disease? Give two methods to prevent this disease.

(b) Give three main functions of each of the following :

(i) Fats

(ii) Pro teins 6
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(H$) Vno{XH$ amoJ Ho$ amoJOZH$ H$m Zm_ ~VmBEü& Bg amoJ Ho$ ‡_wI bjU ä`m h¢? BgH$s amoH$Wm_ Ho$
{bE H$moB© Xmo Cnm` ~VmBEü&

(I) {ZÂZ{b{IV _| go ‡À òH$ Ho$ VrZ ‡_wI H$m ©̀ ~VmBE Ö

(i) dgmE±

(ii) ‡moQ>rZ

19. (a) What are the various trophic levels of a food chain? Name two producers

of a pond ecosystem.

(b) What is soil? What are its components? What is soil erosion? State one

human activity which can cause soil erosion. 6

(H$) Im⁄ ˚m•ßIbm _| {d{^fi nmofH$ ÒVa H$m°Z-go hmoVo h¢? Vmbm~ nm[apÒW{VH$ VßÃ Ho$ {H$›ht Xmo
CÀnmXH$m| Ho$ Zm_ ~VmBEü&

(I) _•Xm ä`m h°? BgHo$ {d{^fi gßKQ>H$ H$m°Z-H$m°Z go h¢? _•Xm AnaXZ ä`m h°? BgH$m H$moB© EH$
_mZdO{ZV H$maU ~VmBEü&

20. (a) What do you understand by the word ‘variation’? How do variations arise

in a population? How are they important for the population?

(b) List three processes by which genes are transferred from one bacterium to 

another bacterium. 6

(H$) "{d{dYVmAm|' go Amn ä`m g_PVo h¢? {H$gr g_wXm` _| {d{dYVmE± H°$go CÀnfi hmoVr h¢? {H$gr
OZgßª`m Ho$ {bE {d{dYVmAm| H$m ä`m _hŒd h°?

(I) EH$ ~°äQ>r[a`m go Xygao ~°äQ>r[a`m _| OrZ ÒWmZm›VaU {H$Z VrZ ‡{H´$`mAm| ¤mam hmoVm h°?

21. (a) List one function of each of the following :

(i) Ovary

(ii) Ovi duct

(iii) Seed

(iv) Pla centa

(b) List any two preventive methods for population control and family

planning.

(c) How is body able to maintain a steady state of water content in summers

and winters? 6
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(H$) {ZÂZ{b{IV _| go ‡À`oH$ H$m EH$ H$m ©̀ ~VmBE Ö

(i) AßS>me`

(ii) A S>dm{h{Z`m±

(iii) ~rO

(iv) Anam

(I) OZgßª`m {Z ß̀ÃU Am°a n[adma {Z`moOZ H$s H$moB© Xmo {d{Y`m± ~VmBEü&

(J) h_mam eara gXu Am°a J_u Ho$ _m°g_ _| pÒWa Ob-gßVwbZ H°$go ~ZmE aIVm h°?

SEC TION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Tools and Tech niques in Bi ol ogy )

( Ord{dkmZ _| `ßÃ Edß VH$ZrH|$ )

22. What do you understand by magnification? 1

AmdY©Z go Amn ä`m g_PVo h¢?

23. What is sphygmomanometer used for? 1

{Ò\$J≤_mo_°Zmo_rQ>a {H$g {bE Cn`moJ H$aVo h¢?

24. Match the words given in Column—I with those of Column—II : 2

Col umn–I Col umn–II

(a) Safranine (i) Ben e dict’s solution

(b) FAA (ii) Liv ing material

(c) Ringer’s solution (iii) Fixative

(d) Test for sugar (iv) Stain
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H$m∞b_ççI _| {XE e„Xm| H$m H$m∞b_ççII _| {XE e„Xm| go {_bmZ H$s{OE Ö

H$m∞b_ççI H$m∞b_ççII

(a) g°\´́o${ZZ (i) ~oZo{S>äQ> H$m Kmob

(b) E\$0 E0 E0 (ii) O°{dH$ nXmW©

(c) [a®Ja H$m Kmob (iii) pÒWarH$maH$

(d) eH©$am H$m narjU (iv) A{^aßOH$

25. Which material is used to study mitosis? How is this material grown in lab?

Which stain is used to prepare slides for mitosis? 4

gyÃr {d^mOZ Ho$ A‹``Z Ho$ {bE H$m°Z-gr gm_J´r H$m ‡`moJ H$aVo h¢? Bg gm_J´r H$mo ‡`moJembm _|
H°$go CJmVo hß°? gyÃr {d^mOZ H$s ÒbmBS> ~ZmZo _| H$m°Z-gm A{^aßOH$ ‡`moJ {H$`m OmVm h°?

26. Write short notes on the following : 4

(a) Greenhouse

(b) Dry preservation

{ZÂZ{b{IV na gß{j· {Q>fln{U`m± {b{IE Ö

(H$) J´rZhmCg

(I) ewÓH$ n[aajU

OP TION–II

{dH$ÎnçII

( Eco nomic Bi ol ogy )

( Am{W©H$ Ord{dkmZ )

22. Name two oilseed crops of India. 1

^maV _| CJmB© OmZo dmbr Xmo {VbhZr \$gbm| Ho$ Zm_ ~VmBEü&

23. What is the full form of NDDB? 1

EZ0 S>r0 S>r0 ~r0 H$m {dÒV•V Í$n {b{IEü&
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24. Match the words given in Column—I with those of Column—II : 2

Col umn–I Col umn–II

(a) Catla (i) Marine

(b) Shark (ii) Freshwater

(c) Cocoon (iii) Bullock

(d) Draught (iv) Silkworm

H$m∞b_ççI _| {XE e„Xm| H$m H$m∞b_ççII _| {XE e„Xm| go {_bmZ H$s{OE Ö

H$m∞b_ççI H$m∞b_ççII

(a) H$Vbm (i) g_w–r

(b) emH©$ (ii) AbdU Ob

(c) H$moHy$Z (iii) ~°b

(d) ~moPm (iv) aoe_H$sQ>

25. (a) What is artificial insemination? Give its two advantages.

(b) Explain the process of reeling silk. 4

(H$) H•${Ã_ dr`©-goMZ ä`m h°? Bg {d{Y Ho$ H$moB© Xmo bm^ ~VmBEü&

(I) aoe_ CVmaZo H$s {d{Y g_PmBEü&

26. (a) List two methods used to store and preserve fruits and vegetables.

(b) What are the main characteristics of worker bees? 4

(H$) \$bm| Edß gp„O`m| Ho$ ^ßS>maU Am°a n[aajU H$s H$moB© Xmo {d{Y`m± ~VmBEü&

(I) H$_u _Yw_päI`m| Ho$ ‡_wI bjU ä`m h¢?

H H H
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